Division with two integers
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Division with two integers
1. Work out

a) 144 + 6 ) 245 +5
c)184 + 8

2. Work these out giving your answers
as decimals.

a) 378 + 5 b) 523 + 4
c) 9943 +8 d)5231+7

3. Riley has worked out 176 + 4

a) What mistake has Riley made?

b) What is the correct answer?

4. \Work out 7602 = 14

| &
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Division with two integers
1. Work out

a)144 +6 54 b)245+5 49
C) 184 +8 9z
2. Work these out giving your answers

as decimals.

a) 378 + 5 b) 523 + 4

756 130.75
c)9943+8 d)5231+7
1242.875 747285714

3. Riley has worked out 176 + 4

a) What mistake has Riley made?
Riley carried over 3 instead of 1

b) What is the correct answer?
44

4. Work out 7602 - 14 543
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